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PHAN TRAC NGHIEM (50 cau, 0.16 diém/cau)

1. The theory of consumer choice most closely examines which of the following Ten
Principles of Economics?

A. People face trade-offs.

B. Governments can sometimes improve market outcomes.

C. Trade can make everyone better off.

D. Markets are usually a good way to organize economic activity.

ANSWER: A

2. When a consumer spends less time enjoying leisure and more time working, she has
A. higher income and therefore can afford more consumption.

B. lower income and therefore cannot afford more consumption.

C. lower income and therefore can afford more consumption.

D. higher income and therefore cannot afford more consumption.

ANSWER: A

3. Economists represent a consumer's preferences using
A. indifference curves.

B. demand curves.

C. budget constraints.

D. supply curves.

ANSWER: A

4. A consumer's preferences provide a ranking of

A. all possible consumption bundles.

B. only the consumption bundles that fall on the same indifference curve.
C. consumption bundles based on their prices.

D. consumption bundles based on the consumer’s income.

ANSWER: A

5. When economists describe preferences, they often use the concept of
A. utility.

B. markets.

C. income.

D. prices.

ANSWER: A

6. If income decreases and prices are unchanged, the consumer’s budget constraint
A. shifts inward

B. remains the same.

C. shifts outward
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D. rotates outward along the horizontal axis.
ANSWER: A

7. A normal good is one

A. for which an increase in income increases consumption of the good
B. for which an increase in income decreases consumption of the good
C. the average consumer chooses to consume at a normal level.

D. the average consumer chooses to consume over other similar goods.
ANSWER: A

8. A good is an inferior good if the consumer buys more of it when
A. his income falls.

B. the price of the good falls.

C. the price of a substitute good rises.

D. his income rises.

ANSWER: A

9. Economists assume that the typical person who starts her own business does so with the
intention of

A. maximizing profits.

B. donating the profits from her business to charity.

C. capturing the highest number of sales in her industry.

D. minimizing costs.

ANSWER: A

10. Total revenue equals

A. price x quantity.

B. marginal revenue - marginal cost.
C. price/quantity.

D. output - input.

ANSWER: A

11. If Kevin’s children run a lemonade stand for a day and sell 200 glasses of lemonade at
$0.50 each, their total revenues are

A. $100

B. $199.50.

C. $200.

D. $400.

ANSWER: A

12. The Three Amigo’s company produced and sold 500 dog beds. The average cost of
production per dog bed was $50. Each dog be sold for a price of $65. The Three Amigo’s
total costs are

A. $25,000.

B. $7,500.

C. $32,500.

D. $67,500.

ANSWER: A
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13. The market value of the inputs a firm uses is called
A. total cost

B. variable cost.

C. marginal cost.

D. fixed cost.

ANSWER: A

14. Eldin is a house painter. He can paint three houses per week. He is considering hiring
his friend Murphy. Together, Eldin and Murphy can paint five houses per week. What is
Murphy’s marginal product?

A. 2 houses

B. 3 houses

C. 5 houses

D. 8 houses

ANSWER: A

15. Riva crafts and sells hard cider as a part-time job. She can bottle and sell four cases in a
week. She is considering hiring her friend Atul to help her. Atul can bottle and sell three
cases per week. What is the maximum total output possible if Riva hires Atul?

A. 7 cases

B. 3 cases

C. 4 cases

D. 11 cases

ANSWER: A

16. Fixed costs can be defined as costs that

A. are incurred even if nothing is produced

B. vary inversely with production.

C. vary in proportion with production.

D. are incurred only when production is large enough.
ANSWER: A

17. Which of the following is not a characteristic of a competitive market?
A. Entry is limited

B. Buyers and sellers are price takers.

C. Each firm sells a virtually identical product.

D. Each firm chooses an output level that maximizes profits.

ANSWER: A

18. A firm that has little ability to influence market prices operates in a
A. monopolistic competition.

B. strategic market.

C. thin market.

D. power market.

ANSWER: A

19. Which of the following statements regarding a competitive market is not correct?
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A. Because of firm location or product differences, some firms can charge a higher price
than other firms and still maintain their sales volume.

B. There are many buyers and many sellers in the market.

C. Price and average revenue are equal.

D. Price and marginal revenue are equal.

ANSWER: A

20. If a firm in a competitive market doubles its number of units sold, total revenue for the
firm will

A. double

B. more than double.

C. increase but by less than double.

D. may increase or decrease depending on the price elasticity of demand.

ANSWER: A

21. Suppose a firm in a competitive market earned $1,000 in total revenue and had a
marginal revenue of $10 for the last unit produced and sold. What is the average revenue per
unit, and how many units were sold?

A. $10 and 100 units

B. $5 and 50 units

C. $5 and 50 units

D. $10 and 50 units

ANSWER: A

22. The intersection of a firm's marginal revenue and marginal cost curves determines the
level of output at which

A. profit is maximized

B. total revenue is equal to variable cost.

C. total revenue is equal to fixed cost.

D. total revenue is equal to total cost.

ANSWER: A

23. Which of these types of costs can be ignored when an individual or a firm is making
decisions?

A. sunk costs.

B. marginal costs

C. variable costs

D. opportunity costs.

ANSWER: A

24. Suppose a firm in a competitive market produces and sells 8 units of output and has a
marginal revenue of $8. What would be the firm's marginal revenue if it instead produced
and sold 4 units of output?

A. $8

B. $2

C. $32

D. $64

ANSWER: A
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25. Which of the following statements best reflects a price-taking firm?

A. If the firm were to charge more than the going price, it would sell none of its goods.

B. The firm has an incentive to charge less than the market price to earn higher revenue.
C. The firm can sell only a limited amount of output at the market price before the market
price will fall.

D. Price-taking firms maximize profits by charging a price above marginal cost.
ANSWER: A

26. Which of the following firms is the closest to being a perfectly competitive firm?
A. a wheat farmer in Kansas

B. the New York Yankees

C. Apple, Inc.

D. DeBeers diamond wholesalers

ANSWER: A

27. Which of the following is not a characteristic of a monopoly?
A. free entry and exit

B. the seller has market power

C. one seller

D. a product without close substitutes

ANSWER: A

28. Which of the following is a characteristic of a monopoly?
A. a product without close substitutes

B. rising average total costs

C. one buyer

D. rising fixed costs

ANSWER: A

29. Which of the following would be most likely to have monopoly power?
A. alocal cable TV provider

B. a long-distance telephone service provider

C. a large department store

D. a gas station

ANSWER: A

30. A market structure with barriers to entry is
A. a monopoly.

B. oligopolistically competitive.

C. monopolistically competitive.

D. perfectly competitive.

ANSWER: A

31. Economists assume that monopolists behave as
A. profit maximizers.

B. cost minimizers.

C. price maximizers.

D. maximizers of social welfare.
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ANSWER: A

32. When a monopolist increases the amount of output that it produces and sells, the price
of its output

A. decreases.

B. increases.

C. stays the same.

D. may increase or decrease depending on the price elasticity of demand.

ANSWER: A

33. When a monopolist reduces the quantity of output it produces and sells, the
A. The price of its output increases.

B. the price of its output remains constant.

C. price of its output decreases.

D. profits for the firm always decrease.

ANSWER: A

34. When a monopolist is able to sell its product at different prices, it is engaging in
A. price discrimination.

B. distribution pricing.

C. quality-adjusted pricing.

D. arbitrage.

ANSWER: A

35. Monopolistic competition is a type of
A. market structure.

B. oligopoly.

C. price discrimination.

D. advertising strategy.

ANSWER: A

36. A firm in a monopolistically competitive market faces a

A. downward-sloping demand curve because the firm’s products are different from those
offered by other firms.

B. downward-sloping demand curve because there are only a few firms in the market.

C. horizontal demand curve because there are many firms in the market.

D. horizontal demand curve because firms can enter the market without restriction.
ANSWER: A

37. A monopolistically competitive firm chooses

A. the quantity of output to produce and the price at which it will sell its output.
B. the quantity of output to produce, but the market determines price.

C. the price, but competition in the market determines the quantity.

D. price, but output is determined by a cartel production quota

ANSWER: A

38. When a market is monopolistically competitive, the typical firm in the market can earn
A. losses in the short run and zero profit in the long run.
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B. losses in the short run and profits in the long run.

C. profits in the short run and the long run.

D. zero profit in the short run and losses in the long run.
ANSWER: A

39. The two types of imperfectly competitive markets are

A. monopolistic competition and oligopoly.

B. markets with advertising and markets with price competition.
C. public goods and common resources.

D. oligopoly and monopoly.

ANSWER: A

40. A monopolistically competitive industry is characterized by
A. many firms, differentiated products, and free entry.

B. many firms, differentiated products, and barriers to entry.

C. a few firms, identical products, and free entry.

D. a few firms, differentiated products, and barriers to entry.
ANSWER: A

41. Free entry and exit means that the number of firms in the market adjusts until
A. economic profits are driven to zero.

B. producers continuously enter the market freely.

C. the market grows to a profitable level.

D. products are free.

ANSWER: A

42. In monopolistic competition as well as in monopoly,
A. price exceeds marginal revenue for each firm.

B. profit is zero in a long-run equilibrium for each firm.
C. entry and exit by firms are unrestricted.

D. there are at most a few firms in each market.
ANSWER: A

43. Which of the following statements about oligopolies is not correct?

A. Unlike monopolies and monopolistically competitive markets, oligopolies prices do not
exceed their marginal revenues.

B. An oligopolistic market has only a few sellers.

C. The actions of any one seller can have a large impact on the profits of all other sellers.
D. Oligopolistic firms are interdependent in a way that competitive firms are not.
ANSWER: A

44. Cartels are difficult to maintain because

A. there is always tension between cooperation and self-interest in a cartel.
B. antitrust laws are difficult to enforce.

C. cartel agreements are conducive to monopoly outcomes.

D. firms pay little attention to the decisions made by other firms.
ANSWER: A

45. Game theory is necessary for understanding
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A. oligopoly, but it is not necessary for understanding monopoly or competition.
B. all market structures.

C. competition and oligopoly, but it is not necessary for understanding monopoly.
D. monopoly and oligopoly, but it is not necessary for understanding competition.
ANSWER: A

46. The primary purpose of antitrust legislation is to
A. protect the competitiveness of markets.

B. protect small businesses.

C. protect the prices of local products.

D. ensure firms earn only a fair profit.

ANSWER: A

47. A special kind of imperfectly competitive market that has only two firms is called
A. a duopoly.

B. a two-tier competitive structure.

C. an incidental monopoly.

D. a doublet.

ANSWER: A

48. An oligopoly

A. is a type of imperfectly competitive market.

B. has a concentration ratio of less than 50 percent.

C. is a price taker.

D. has many firms rather than just one firm or a few firms.
ANSWER: A

49. A market structure with only a few sellers, each offering similar or identical products, is
known as

A. oligopoly.

B. monopoly.

C. monopolistic competition.

D. perfect competition.

ANSWER: A

50. The breakfast cereal industry, with its concentration ratio of 80%, would best be
described as a(n)

A. oligopoly.

B. monopoly.

C. perfectly competitive market.

D. monopolistically competitive market.

ANSWER: A

PHAN TU LUAN (tong sé cau héi + thang diém tirng cau hai)

Cau héi 1: (1 diém)

Trang 9/ 10



BM-003
Suppose that a small family farm sold its output for $100,000 in a given year. The family
spent $25,000 on fuel, $40,000 on seed, fertilizer, and pesticides, and $25,000 on
equipment, including maintenance. The family members could have earned $20,000
working in other occupations.
What is the economic profit for the family farm?

ANSWER: Economic profit = Total revenue - explicit costs - implicit costs = $100,000 -
($25,000 + $40,000 + $25,000) - $20,000 = $100,000 - $90,000 - $20,000 = -$10,000.

Cau héi 2: (1 diém)
State one benefit of government-granted monopolies like patents and copyrights.
ANSWER: increased incentives for creative activity

PAP AN PHAN TU LUAN VA THANG PIEM

Phan cau héi Noi dung dap an Thang Ghi chu
diém
I. Trac nghiém 8.0
Cau1-50 | 0.16
Il. Tw luan 2.0
Céau hei 1 Economic profit = Total revenue - 1.0

explicit costs - implicit costs = $100,000
- ($25,000 + $40,000 + $25,000) -
$20,000 = $100,000 - $90,000 - $20,000

= -$10,000.
Cau hoi 2 increased incentives for creative activity 1.0
Piém tong 10.0
‘ TP. Ho Chi Minh, ngay 2 thang 5 nam 2024
Nguwoi duyét de Giang vién ra de
/ /—_%
ThS.GVC. Tran Thi Bich Dung ThS. Nguyén Ping Trang Anh
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